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Definition
nth root

Yb=aq means b=a"

« if n>2 and even then a and » must be greater than or equal to 0.
« if >3 and odd, then @« and b can be any real number.

In 2/p:

The symbol |/ is called the radical
n is called the index 5
b is called the radicand U\

if there is no index, it is 2

Radical Review

Know your powers and roots
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Evaluate
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Simplifying
If n>2 is a positive integer and a is a real number, then
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(remember Vx> =|x| )
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Raise each of the following to the

S power.
1,4,9, 16, 25, 36
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Raise each of the following to the
% power.

1,8,27,64, 125,216
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Fractional exponent

1
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n is an integer bigger then or equal to 2
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,27, 64, 125,216,
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a is real, m/n is a rational number in lowest terms with n bigger or
equal to 2
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Write each of the following as a radical andf possible.
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Rewrite in exponent form

Px - x7 ot
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Adding, Subtracting, and Multiplying Radical expressions
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Multiply and Simplify Assuming all variables are greater then or
equal to zero. Fnp agks va [

33315 3/4x -2

2J2.18 ?
%\)8 x°

Ugs 3
&, B5)  3ax
27a%° - Y6a°p°
V2 a7 anoaa
\ lblmﬁ (0"
tg/\ 8\

PN

a 9

X\ Yzar

@\i\l\:‘"—/f-




March 26, 2015

Simplify Assuming all variables are greater then or equal to zero.
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Add or subtract as indicated. Assume all variables are real numbers
greater then or equal to zero <7 o alpg, valwWe
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